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37. The graph of g, shown below, consists of the arcs of two quarter-circles and two
- ’ : 12
straight-line segments, The value of J; g(x)dx is
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38. Wluch of these: could be a partlcular solution of the dlfferentlal equauon whose slo D

ﬁeld is shown here? .
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(A) y== (B) y=lnx C)y=e  D)yy=e* (E) y=¢

39. What is the domain of the particular solution for =2 &
dx

X
where x =-17

(A) x<0 (B} x>-2 (O 2<x<?2
D) x2x2 (E) none of these; no solution exists for x =—-1




The slope field showu here i is for the differential equation
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®B) y'=Inx - (CJ}*'=€r (D)y =y (E)y——y

M=
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Ifwe subsntute X =tan 9 ‘which of the following is eqmvalent o J' 1+%? dx ?
.-(A) jsece a6 (B) josec sde (C) jﬁ sec 0 46
(D)"f;t “etods o [secoas

Ifx=2 siﬁ u and y= cbs 2u, then a siﬁgié equation in x émd yis

A P ty=1 (B) P+ 4y=g (C)xl+2y=2
D) P +y=g ®) 5 —2y=2

The area bounded by the Ienmlscate with polar equatlon r=2 cos 20 is ef;ual to
(A) 4 B)1 (%) Z ™2 (| none of these

eyl

@A) 0 - ® _g_ . ©= ® 2z  (® none of these

The first four térms of the Méclaurin series '(ﬂle_Téyldr series about x = Cl) for

are

1
f(x)—1

— X

W) 1+2+48 488 (B) L= 2+ 4y~ g
0 -1-2x- 4x-—8x D) I-x+2—-32
(E)1+x+x +x '

: f e Tdx =

(A) —x e+ . (B) —gx e +C (8] "*.762.&_’r + e+

(D) —fe TT2THC (B et e —2e v 4
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